
s|=
;+= of]hgfsf] gfd j*f g+=

u}/ ;/sf/L 
;:yf &]Ssf pkef]Qmf ;ldlt cGo

nfut 
O{li^d]^ /sd

:jLs[t 
/sd ;Demf}tf ldlt

;DkGg ug'{ kg]{ 
ldlt

gu/kflnsf 
af^

pkef]Qmf 
;ldltaf^ / 
;*s af]*{ cGo ? lzif{s ;fO{* cf]=;L

ef}lts 
k|ult

1
;f]j)ff{dfO{ dlGb/ kl/;/df afnkfs{ 
lgdf{)f ug]{ sfo{ 7

;+ho lu/L 
p=;=cWoIf 600000 600000 2071÷05÷09 2071÷08÷10 510000 90000 afnaflnsf df]=kmlxd c+;f/L ;DkGg

2
jg '̂^jf k'n glhs af;sf] nrsf 
k'n lgdf{)f ug]{ sfo{ 2 hf]luGb| ;fx 8322.50 8322.5 071÷06÷06 071÷06÷10 8322 dd{t ;+ef/ k|]d z+s/ ;fx ;DkGg

3
/fwf s[i)f dlGb/ glhs o!:yndf 
df^f] k'g]{ sfo{ 1

xl/gf/fo)f 
ltjf/L 7221 7221 071÷08÷24 071÷08÷29 7221 ,, ,, ;DkGg

4
sfgzNols|of lzlj/ ;+rfng ug]{ 
sfo{ 1 ODKofS^ g]kfn 50000 50000 2071÷08÷24 071÷10÷30 50000

dlxnf / 
afnaflnsf ;DkGg

5
jfg]Zj/ dlGb/df km';sf] #/ lgdf{)f 
ug]{ sfo{ 4

cf]d k|sfz 
ef/tL 40915 40915 2071÷09÷02 071÷11÷01 25000 15195 wd{ ;:s[tL k|= df]=kmlxd c+;f/L ;DkGg

6
h'gLo/ /]*s|; ;s{n ;b:ox?sf] 
Ifdtf ljsf; sfo{s|d

h'gLo/ /]*s|; 
o'jf ;ldlt uf}/ 20000 20000 071÷11÷04 071÷12÷05 17000 3000 afnaflnsf ;f=lj=;f= ;DkGg

7
bfnldn b]lv k'/g]jf hfg] af^f] dd{t 
ug]{ sfo{ 12

x/]Gb| /fo 
ofbj 4128 4128 071÷11÷18 071÷12÷19 4000 dd{t ;+ef/ x[bogf/fo)f ;fx ;DkGg

8 a/xjf tfnsf] hns'DeL x^fpg] sfo{ 9,12
d'Ggf dxtf] 
(fu/ cWoIf 229544 229544 071÷11÷28 071÷12÷25 150000 37499÷99 k|a{$gfTds sf= k|]d z+s/ ;fx ;DkGg

9
nf]s;]jf cfof]u tof/L sIff ;+rfng 
ug]{ sfo{

blnt Plss[t 
ljsf; s]Gb| uf}/ 

5 0 071÷12÷26 072÷02÷17

dlxnf,afnafln
sf,d':nLd,lk%
*fju{ / blnt ;f=lj=;f= ;DkGg

10

zf]ef b]jLsf] #/ b]lv lszf]/L 
ofbjsf] #/ ;Dd af^f] dd{t ug]{ 
sfo{ 5 x/]Gb| /fo ofbj 24013 24013 071÷11÷19 071÷12÷19 24000 dd{t ;+ef/ x[bogf/fo)f ;fx ;DkGg

11
dlxnf lx+;f lj?$ hgr]tgfd'ns 
sfo{s|d 5

u|fld)f o'jf 
;dfh ;]jf ;+# 

b]jxL 3 25000 25000 072÷01÷12 072÷02÷15 21250 3750 dlxnf ;f=lj=;f= ;DkGg

12
ljBfnodf sf&sf] *]:s a]Gr lgdf{)f 
ug]{ sfo{ 6 k|f=lj=uf}/ 6 133875 100000 072÷01÷22 072÷02÷24 85000 15000 afnaflnsf df]=kmlxd c+;f/L

13
gu/:t/Lo ^flkms ;r]tgfTds 
sfo{s|d 1,13

u|fld)f lzIff 
ljsf; g]kfn 
h]&/lxof 6 150000 150000 072÷01÷28 072÷02÷25 127500 22500 k|a{$gfTds sf= ;f=lj=;f=

14
%jf%'t / dlxnf zzlQms/)f 
;DaGwL tflnd 4

blnt dlxnf 
hfu/)f s]Gb| uf}/ 

4 20000 20000 072÷01÷28 072÷02÷15 17000 3000 blnt cf=n]=k=;f=lj=;f=

15 ljBfnosf] sf]&f Knfi^/ ug]{ sfo{ 2 k|f=lj=uf}/ 2 150000 150000 072÷01÷29 072÷03÷10 127500 22500 afnaflnsf df]=kmlxd c+;f/L

16
df=lj=k'/]gjf b]lv emf]s' dxtf]sf] #/ 
;Dd ;*s dd{t ug]{ sfo{ 12

ljgf]b ;fx 
cWoIf 145440÷50 145440÷50 072÷01÷30 072÷03÷05 21816÷10 21816÷10 101808÷30

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

17
j*f gful/s dGrsf dlxnf x?nfO{ 
Ifdtf ljsf; sfo{s|d 3

ldzg ;fIf/ 
o'js g]kfn uf}/ 

5 65000 65000 072÷01÷30 072÷02÷25 55250 9750 dlxnf cf=n]=k=;f=lj=;f=

uf}/ gu/kflnsf sfof{no /f}tx^

cf=j= 2071÷072 df ;+rflnt of]hgfx?sf] ljj/)f



18
emf]n'Ë]k'n hfg] s+s|L^ af^f] dd{t ug]{ 
sfo{ 9

/Ltf b]jL dxtf] 
cWoIf 58750.94 58750.94 072÷01÷31 072÷03÷01 8812.65 8812.65 41125.64

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

19
d':tkmfsf] #/ b]lv cs'ksf] #/ ;Dd 
af^f] lk=l;=l;=ug]{ sfo{ 10

O/kmfg cfnd 
cWoIf 500000 500000 072÷01÷31 072÷03÷10 425000 75000

cf=;f=k"jf{wf/ 
ljsf; sfo{s|d df]=kmlxd c+;f/L

20
ljBfno egf{ / afn ljjfx lj?$ 
cleofg sfo{s|d 1,13

cf;dfg g]kfn 
uf}/ 3 50000 50000 072÷01÷31 072÷02÷25 42500 7500 afnaflnsf ;f=lj=;f=

21
kf&]#/ ;d:of /f]syfd ;DaGwL 
sfo{s|d 1,13

Plss[t zq'hLj 
Joj:yfkg s[ifs 
;dfh uf}/ 4 50000 50000 072÷01÷31 072÷02÷25 42500 7500 dlxnf ;f=lj=;f=

22 ljBfnosf] %fgf dd{t ug]{ sfo{ 2
a}=lg=df=lj=  

uf}/ 2 50000 50000 072÷02÷01 072÷03÷05 42500 7500 afnaflnsf df]=kmlxd c+;f/L

23
/fdnfnsf] #/ b]lv /fh]Gb|sf] #/ 
;Dd s+s|L^ af^f] dd{t ug]{ sfo{ 6

nfnjbg k|=;fx 
cWoIf 103433.78 103433.78 072÷02÷01 072÷03÷05 15515.05 15515.05 72403.68

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

24
db{zfdf xftd'v w'g] &fFp lgdf{)f ug]{ 
sfo{ 1

db{zf O:nfldof 
uf}/ 1

df]=;nLd uf}/ 
1 25000 25000 072÷02÷03 072÷03÷05 21250 3750 d':nLd df]=kmlxd c+;f/L

25
e'sDk k|lt/f]w ;DaGwL hgr]tgf 
d'ns sfo{s|d 1,13

ul/jL pTyfg 
kl/ifb ;v'cjf 7 20000 20000 072÷02÷03 072÷02÷25 17000 3000 lk%*fju{ ;f=lj=;f=

26
ljBfnosf] kmlg{r/ / ejg dd{t ug]{ 
sfo{ 11

;/:jtL 
lg=df=lj=uf}/ 11 100000 100000 072÷02÷04 072÷02÷29 85000 15000 afnaflnsf x[bogf/fo)f ;fx

27
ckfËx?nfO{ hgr]tgfd'ns sfo{s|d 
;+rfng ug]{ 1,13

af}$Ls ckfË 
cleefjs ;+# 25000 25000 072÷02÷04 072÷02÷20 21250 3750 ckfË cf=n]=k=;f=lj=;f=

28

dgf]h ofbjsf] #/ b]lv ho/fd 
;xgLsf] #/ ;Dd af^f] lk=l;=l;= 
ug]{ sfo{ 7

z+s/ s'df/ 
;xgL cWoIf 500000 500000 072÷02÷04 072÷03÷10 425000 75000

cf=;f=k"jf{wf/ 
ljsf;

29 %^#f^ dd{t ug]{ sfo{ 11
/fha+z l;+x 

uf}/ 13 9000 9000 071÷07÷04 071÷07÷11 9000 k|a{$gfTds sf= k|]d z+s/ ;fx

30
;fj{hlgs x})* kfO{k h*fg ug]{ 
sfo{ 2

cf/tL b]jL 
uf}/ 2 34907 34907 072÷02÷05 072÷03÷10 25000 9907 blnt df]=kmlxd c+;f/L

31 ljBfnodf o"l/gn lgdf{)f ug]{ sfo{ 10 k|f=lj=uf}/ 10 50000 50000 072÷02÷06 072÷03÷05 42500 7500 afnaflnsf x[bogf/fo)f ;fx

32
#'DtL lzlj/ :jf:Yo lSnlgs 
;+rfng ug]{ sfo{s|d 1,13 ;]km g]kfn uf}/ 5 59200 59200 072÷02÷06 072÷03÷01 50400 8800 afnaflnsf cf=n]=k=;f=lj=;f=

33

jfg]Zj/ dlGb/ glhssf] kf]v/L 
k'g{lgdf{)f / ;f}Gb{oL s/)f tyf 
j[Iff/f]k)f ug]{ sfo{ 4

kf;kt /fo 
ofbj cWoIf 1000000 1000000 072÷02÷06 072÷03÷05 800000 200000 O{=Pkm=Pn=hL= df]=kmlxd c+;f/L

34
dfnkf]t sfof{no cuf*L ;fj{hlgs 
zf}rfno lgdf{)f ug]{ sfo{ 8

Pn=P;=P)* 
;G; 

sG^«S;g 
a|Xk'/L 1 991315 970317 072÷02÷06 072÷03÷15 470317 500000 O{=Pkm=Pn=hL= x[bogf/fo)f ;fx

35
P;kL sfof{no glhs  ;fj{hlgs 
zf}rfno lgdf{)f ug]{ sfo{ 8

rGbg lgdf{)f 
;]jf a*xjf{ 3 1547511 1503381 072÷02÷06 072÷03÷15 1503381

O{=Pkm=Pn=hL=
/ vfg]kfgL 
l*lehg 

sfof{no uf}/ df]=kmlxd c+;f/L



36

bf]; dxdbsf] vnËf b]lv /fd 
k|l;$sf] #/ ;Dd sfnf] kq] ;*s 
ddt ug]{ sfo{ 10

;fu/ lgdf{)f 
;]jf uf}/ 9 590030 582572 072÷02÷06 072÷03÷15 582572

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

37
a/xjf k'n b]lv k'/]gjf hfg] sfnf] 
kq] ;*s dd{t ug]{ sfo{ 9,12

;fu/ lgdf{)f 
;]jf uf}/ 9 1117045 1097617 072÷02÷06 072÷03÷15 1097617

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

38
sflGt$f/ glhs /x]sf] sfnf] kq] 
;*s dd{t ug]{ sfo{ 2,3

kz'klt lgdf{)f 
;]jf uf}/ 2 100040.83 88483 072÷02÷06 072÷03÷15 88483

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

39

jL=kL=rf}s b]]lv s[lif sfof{no 
;Ddsf] sfnf] kq] ;*s dd{t ug]{ 
sfo{ 8

kz'klt lgdf{)f 
;]jf uf}/ 2 116233.59 114777.75 072÷02÷06 072÷03÷15 114777.75

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

40

/f}=lhNnf cbfnt b]lv uf}/ /fO{; 
ldn ;Ddsf] sfnf] kq] ;*s dd{t 
ug]{ sfo{ 1

kz'klt lgdf{)f 
;]jf uf}/ 2 103134.51 100116 072÷02÷06 072÷03÷15 100116

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

41

P]ltxfl;s k'/]gjf b/jf/ l:yt ;]gf 
a];SofDk sf] dd{t tyf /+u/f]ug 
ug]{ sfo{ 12

uf}/L u)f]z 
sG:^«S;g 
uf}/ 9 112132.62 93650 072÷02÷08 072÷03÷15 93650 k|a{$gfTds sf=

42

g]kfn ef/t l;df k|j]z sflGt$f/ 
glhs lj>fd:yn / j[Iff/f]k)f ug]{ 
sfo{ 2,3

/fh' kf;jfg 
cWoIf 500000 500000 072÷02÷08 072÷03÷15 425000 75000

cf=;f=k"jf{wf/ 
ljsf; df]=kmlxd c+;f/L

43 d:hLb db{zf /+u/f]ug ug]{ sfo{ 1
/fhanL ljsf; 
kl/ifb kr?vL 4 50000 50000 072÷02÷08 072÷30÷05 42500 7500 d':nLd cf=n]=k=;f=lj=;f=

44
ljB'lto ;fdfg vl/b u/L h*fg ug]{ 
sfo{ 4 k|f=lj=uf}/ 4 50000 50000 072÷02÷08 072÷03÷05 42500 7500 afnaflnsf 

hLt]Gb| ef/tL 
/fds}nfz /fo 

ofbj

45 afnljsf; s]Gb| ;+rfng ug]{ sfo{ 8
lg=df=lj=afndlG

b/ uf}/ 8 100000 100000 072÷02÷10 072÷03÷05 85000 15000 afnaflnsf cf=n]=k=;f=lj=;f=

46 z}n]z dlGb/ /+u/f]ug ug]{ sfo{ 4
ho/fd 
kf;jfg 10000 10000 072÷02÷13 072÷03÷05 8500 1500 blnt df]=kmlxd c+;f/L

47 ljBfnosf] zf}rfno dd{t ug]{ sfo{ 12
eujtL 

k|f=lj=uf}/ 12 50000 50000 072÷02÷13 072÷03÷05 42500 7500 afnaflnsf x[bogf/fo)f ;fx

48
/fli^«o cg';Gwfg lhNnf sfof{nosf] 
lgjf; :yfg dd{t ug]{ sfo{

/fd lgdf{)f ;]jf 
*'dl/of 7 25783 24995 072÷02÷13 072÷03÷05 24995 k|a{$gfTds sf= x[bogf/fo)f ;fx

49 ljBfnosf] kmlg{r/ lgdf{)f ug]{ sfo{ 13
blno ;fd'bflos 
k|f=lj= uf}/ 13 110000 110000 072÷02÷13 072÷03÷05 93500 16500

blnt / 
afnaflnsf df]=kmlxd c+;f/L

50 ljBfnosf] /+/f]ug / df^f] k'g]{ sfo{ 3
/fd hfgsL sGof 

k|f=lj=uf}/ 3 75000 75000 072÷02÷13 072÷03÷05 63750 11250 dlxnf df]=kmlxd c+;f/L

51
lzjfno glhssf] kf]v/L ;f}b{oLs/)f 
/ j[Iff/f]k)f ug]{ sfo{ 1

kjg s'df/ ;fx 
cWoIf 2500000 2500000 072÷02÷14 072÷03÷15 1625000 375000 500000 O{=Pkm=Pn=hL= x[bogf/fo)f ;fx

52
jL=kL=rf}s b]]lv kf]v/Lof ^f]n hfg] 
u|]en af^f] dd{t ug]{ sfo{ 5

hf]luGb| /fpt 
xnvf]n cWoIf 40796 40796 072÷02÷14 072÷03÷10 4089 8159 28558

;*s af]*{ / 
g=kf= df]=kmlxd c+;f/L

53
/fwf s[i)f dlGb/ sf] cw'/f] ejg k'/f 
ug]{{ sfo{ 1

Zofd lszf]/ 
k|=ofbj cWoIf 500000 500000 072÷02÷14 072÷03÷15 425000 75000

cf=;f=k"jf{wf/ 
ljsf; x[bogf/fo)f ;fx



54
ljBfnosf] ef}lts dd{t ;'wf/ ug]{ 
sfo{ 5

k|f=lj=ljBfklt 
gu/ uf}/ 5 50000 50000 072÷02÷13 072÷03÷05 42500 7500 afnaflnsf df]=kmlxd c+;f/L

55 x]o/ sl^Ë tflnd ;+rfng ug]{ sfo{ 1,13

dlxnf tyf 
afnaflnsf 

pTyfg s]Gb| uf}/ 
5 50000 50000 072÷02÷17 072÷03÷05 42500 7500 cf=n]=k=;f=lj=;f=

56 ljBfnosf] ejg dd{t ug]{ sfo{ 12
lg=df=lj= k'/]gjf 

uf}/ 12 50000 50000 072÷02÷18 072÷03÷10 42500 7500 afnaflnsf x[bogf/fo)f ;fx

57
ljBfnosf] dd{t ;Def/ / lgdf{)f 
ug]{ sfo{ 8 df=lj=uf}/ 8 100000 100000 072÷02÷18 072÷03÷10 85000 15000 afnaflnsf df]=kmlxd c+;f/L

58 z}n]z dlGb/ /+u/f]ug ug]{ sfo{ 2
nng kf;jfg 

uf}/ 2 10000 10000 072÷02÷18 072÷03÷10 8500 1500 blnt df]=kmlxd c+;f/L

59
l;nfO{ s^fO{ tflnd ;+rfng ug]{ 
sfo{ 5

Go" ;dfh ;'wf/ 
o'jf s]Gb| g]kfn 

h^x/f 15000 15000 072÷02÷18 072÷03÷10 12750 2250 d':nLd cf=n]=k=;f=lj=;f=

60 d}qLk")f{ ls|s]^ '̂«'Ggfd]G^ 5
ls|Pl^e u|"k ckm 
g]kfn en]lxof 6 150000 150000 072÷01÷09 072÷03÷15 125000 25000 k|a{$gfTds sf=

61
vfB ;'/Iff ;DalGw cled'lvs/)f / 
cg'udg ug][ sfo{ 1,13

zflGt ljsf; 
s]Gb| g]kfn uf}/ 5 25000 25000 072÷02÷18 072÷03÷10 21250 3750 k|a{$gfTds sf=

62 ljBfnosf] dd{t ug]{ sfo{ 5
!FfgHof]lt k|f=lj= 

uf}/ 5 50000 50000 072÷02÷19 072÷03÷05 42500 7500 afnaflnsf

63
;fj{hlgs x})* kfO{k h*fg ug]{ 
sfo{ zDe' kf;jfgsf] #/ ghLs 2

g]kfn blnt 
pTyfg tyf 

;dfh sNof)f 
s]Gb| uf}/ 13 50000 50000 072÷02÷21 072÷03÷05 blnt

64
Pr=cfO{=eL=P*; / nfu' cf}ifw 
lj?$ hgr]tgf d'ns sfo{s|d 1,13

Pr=cfO{ eL tyf 
P*; dxf;+# 
g]kfn /f}tx^ 40000 40000 072÷02÷21 072÷03÷10 34000 6000 lk%*fju{

65

gS;f zfvfdf jfn lkml^Ë b/fh / 
/fhZj zfvfdf sfpG^/ lgdf{)f ug]{ 
sfo{

k[YjL 
OG^/k|fO{h]h 

uf}/ 9 299900 299900 072÷02÷21 072÷03÷10 299900 0 0 k|a{$gfTds sf=

66 afn>d pGd'ng sfo{s|d 1,13
u|fld)f g]kfn 

uf}/ 8 20000 20000 072÷02÷22 072÷03÷10 17000 3000 afnaflnsf

67
ljBfnosf] ef}lts ;+/rgf lgdf{)f 
ug]{ sfo{ 13

/Tg sGof 
lg=df=lj=uf}/ 13 95000 95000 072÷02÷21 072÷03÷10 80750 14250

d':nLd / 
dlxnf

68
u'b/L ahf/df x})*kfO{k h*fg ug]{ 
sfo{ 1

;/f]h s'df/ 
If]qL uf}/ 1 35000 35000 072÷02÷22 072÷03÷10 29750 5250 dlxnf

69
Jo"^L kfn{/ / sDo"^/ ;DaGwL tflnd 
sfo{s|d 1,13

/fd b'nf/L lzj 
;dfh s]Gb| uf}/ 45000 45000 072÷02÷22 072÷03÷15 38250 6750 dlxnf

70
/fwf b]jLsf] #/ b]lv sla|:tfg ;Dd 
af^f] dd{t ug]{ sfo{ 5

k|]d gf/fo)f 
k|=ofbj 9450 9450 072÷01÷28 072÷02÷25 9450 k|a{$gfTds sf=

71
;fj{hlgs hUufdf /x]sf] cw'/f] 
;fd'bflos ejg lgdf{)f ug]{ sfo{ 4

/fdhL /fo 
ofbj cWoIf 300000 300000 072÷02÷24 072÷03÷15 255000 45000

dlxnf / 
afnaflnsf



72
u'Ktf k]^«f]n kDd b]lv l^s'lnof hfg] 
sfnf] kq ;*s dd{t ug]{ sfo{

kz'klt lgdf{)f 
;]jf uf}/ 2 207580 207580 072÷02÷24 072÷03÷15 207580

;*s af]*{ / 
g=kf=

73

s|la:tfgdf df^f] k'g]{ sfo{ / dbgL 
ldzgsf] sDkfp)* jfn lgdf{)f ug]{ 
sfo{ 5

d':nLd c+;f/L 
cWoIf 95000 95000 072÷02÷24 072÷03÷15 80750 14250 d':nLd

74

s[lif ljsf; sfof{no b]lv 
sf]=n]=lg=sf= ;Dd s+s|L^ af^f] 
dd{t ug]{ sfo{

of]u\Gb| clwsf/L 
cWoIf 64282 64282 072÷02÷26 072÷03÷10 53048

;*s af]*{ / 
g=kf=


